Instruction Manual

PJ-OJV100WO OO

1.  Safety Instructions

The device is not recommended to be placed on low thermal conductive surface. For
example, plastics.

For safety reasons, please ensure the mounted device is kept at > 4mm safety distance at
all sides from other components and equipments (Refer to Fig. 2). Please insert an
insulation sheet between the system and product, if the safety distance is < 4mm.

Note that the enclosure of the device can become very hot depending on the ambient
temperature and load of the power supply. Do not touch the device while it is in operation
or immediately after power is turned OFF. Risk of burning!

Do not touch the terminals while power is being supplied. Risk of electric shock.

Prevent any foreign metal, particles or conductors from entering the device through the
openings during installation. It may cause: - Electric shock; Safety Hazard; Fire; Product
failure.

Warning: The power supply must be mounted by metal screws onto a grounded metal
surface. It is highly recommended that the Earth terminal on the connector be connected
to the grounded metal surface.

For Open Frame type of installation, ensure the power supply’s Protective Earthing
(Marked “PE” in Fig. 1) point is connected to the system’s Protective Earthing (PE). It is

also recommended that the input FG (Fig. 1 location @) be connected to the system’s PE.

Device Descriptions

Refer to Fig. 1.:

Input terminal block connector

Output terminal block connector

Remote ON/OFF function connector (Option)
@ DC voltage adjustment potentiometer

Installation of the Device

Refer to Fig. 1.:

Mounting holes for the Enclosed type of power supply (device). The device shall be
mounted on minimum of 3 mounting holes using M4 screw of minimum 5mm length.
Recommended mounting torque for tightening: 4~8Kgf.cm. For the other mounting
holes without screw threads, please use suitable screw and nut.

Mounting holes for the Open Frame type of power supply (device). The device shall
be mounted on minimum of 4 mounting holes using M3 screw of minimum 5mm
length. Recommended mounting torque for tightening: 4~8Kgf.cm.

This surface belongs to customer’s end system or panel where the device is mounted.

Use flexible cable (stranded or solid) of AWG No. 22-18. Please refer to Tab. 1 for the
recommended Housing and Terminal.
For the Remote ON/OFF function, use flexible cable (stranded or solid) of AWG No. 28-22.

Tab. 1: Connector (Board Mounting) Housing Terminal

I t (JST, B3P5-VH(LF)(SN VHR-5N

nput (JST) (LF)SN) SVH-21T-P1.1
Output (JST) B8P-VH(LF)(SN) VHR-8N

Remote ON/OFF

Function (Option) B2B-XH-A(LF)(SN) XHP-2 SXH-001T-P0.6

PJ-CIV100WCNA: Enclosed (with cover and chassis)

4—M4*0.

7

3-g4.5 N
/MOUNTING HOLE &/

MOUNTING HOLE \

4
2-g45 2-M4*0.7

MOUNTING HOLE MOUNTING HOLE

PJ-COV100WLNA: L Frame (without cover)

PJ-COV100WBNA: Open Frame

3-94.5 A 4-M4*0.7
/MOUNTING HOLE MOUNTING HOLE \

#3.5 (MOUNTING HOLE; @ 3-83.5
PE: MUST CONNECT WITH (MOUNTING HOLE)
SYSTEM_PROTECTIVE EARTHING

Fig. 1: Device Descriptions

D1 TOP SIDE

CN1 \ﬂ

PSU

Fig. 2: Assembl

FRONT SIDE

cNt PSU

[ INE

D1=4mm
D2 = 8mm (For Open Frame type)

y Reference

www.DeltaPSU.com



SR B

HESIHE

PJ-O0V100WO OO

1.

Z2HH

o ARPSTEAEIESASE - R0 1 B -

o RPUERIHESEIS - BRI S AR SR Amm EEE DL R 2 4050
(W% ) o UFERE KT dmm B » T G ST 2 AR -

o EFESRIERSOEEPN » ANSORIELIRE » FUE Ry R
] R SRR » DL 15 -

o EOVE LIRS R T DT -

o SR NG RIETTA S RS A R AE AT A  BES
AR -
—dii ; ERMEH KK PRI

o gpg - ARG RS S B BON TEEE | MEEESI S
RIS R I B - FER L ARSI T B R e,
FIHRIEIS = 2O IR AL B (T PE) IS SR
RS - SRR A T (i (D) MR A6 -

PRI B
fRHEE—:
®

LN T

@ T

@ Remote ON/OFF function I (Option)
@ EmaE T

fRAEE—:

B WL E G EEE RN o MR BU R EETL o SR
KREE/L 5mm ) M4 B2 B /0 = B TR o G R AR
4~8Kgf.cm « SPHFUBRIBERTL - LA U IR A=, -
SRR, TR 2 TE W RN, MR SO L. 7R
REZH K RE 4/ Smm i) M3 IR BN 20 PUA [ 5 9L EEULIE [ 5 R e
9 4~8Kgf.cm -

® WEEETANE SRR -

o HIZAYIEITTE]{# ) AWG No. 22-18 - iV {# fJ2 Housing and Terminal (& —) °
e Remote ON/OFF function £ 11 1] 4§ AWG No. 28-22.

BER— Connector (Board Mounting) Housing Terminal

I T) B3P5-VH(LF)(SN VHR-5N

nput (JST) SPS-VH(LF)(SN) 9 SVH-21T-P1.1
Output (JST) B8P-VH(LF)(SN) VHR-8N

Remote ON/OFF

Function (Option) B2B-XH-A(LF)(SN) XHP-2

SXH-001T-P0.6

2L EOEE

o AHBEEMMDEE (7T AF v ) ICREBTH I LT TES Y,

o ARSI, BRORE, MESTORT, homih-OREs S 143 4mm Lk
OREWHATER L CFSD (2 BH) , £7-, 4mm Ll O SHEATER T X 20
Sy, B BRI A A B IS ORI Y — b EBATT S0,

o TEIRMROEMARS & JHRECTERO AHIC L > TRIESIERICIL 25 2 L D
DETOTHEELTTS, BBOFEETH0 T —% 4 710 U E %I 5720 T
Taw, [RFE] oBRRHY ET,

o EEMEBITIL. X —I SRS ANT R, TRE] 0BRSS £

o HBETUTT AMIC, SRITEEEORMIEEROBOEALADAERNE S LT
FEUW, 29 LRiid, @, 0 &, KEORBOMmE3 X RIT2Enb0 27,

o R EREZRAT AT, BROXCEMML, T2 SAEABEICRMNT TT S0,
AR B DT — AT E T — A SN EREICHTERT A AR LET,
WA —F > 7 L— A B A OGS B5A10E, B 1T PE &Rl S gl
DT — A%, W ERNOT — A (PE) C4FHGELTFEY, - K10 Qo
AN FG ZEBROT — 2 &L BT 5 = & b BRI LET,

BIREROEML T
1 B
AT T 0y 7 axy s—
g% T T vy s 2y 5—
VE—MFVATHaxs 44— (A7 ay)
@ DcBEMEY

BIREBROTUFT

[x] 1 2 H:
= AR E FERRIEI (RS OB ARTT, HEE M4 O D EMA L, RIK
5mm DPES ET 3 » AT EOREZEELTFEW, MESHLHHT brsid
4~8Kgf.cm TY ., ZOfAR P OMNILF T /UL, B -T2 R VLT v hTED
TF&EW,
F—=T T =S A THBEIER (B8R OWfHT R T, BT M3 ox VR
R L. I 5mm ORS £ T4 4 Fil EORZEELTFSV, #EIN DT
kv 7 1% 4~8Kgf.cm T,

Oy, HIREIY T 5 BEROEE £ -3 SRR LCOET,

e AWGN0.2218 D7 Lx VTNl —TN (ARTvTF v RERIZY Y v REAT) & T
AT &0, RN U7 LTI TRE 1 23B TS0,

o UE—hAUAFTHIZH, AWGN0.28-22 D7 L XTI N —T )N (AT T v K&z
1TV Uy REAT) ETHATEN,

#1 SXZF— (R—FER) | HR vovs e
AF (IST) B3P5-VH(LF)(SN) VHR-5N St
H7 (IST) B8P-VH(LF)(SN) VHR-8N -21T-P1.
VE—FFvATH

B FTva) B2B-XH-A(LF)(SN) XHP-2 SXH-001T-P0.6

www.DeltaPSU.com



